
Read and undeRstand all instRuctions and waRnings pRioR 
to installation of system and opeRation of vehicle.

Part#: 55362
Product: dual stabilizer
Application: 1988-1998 chevy 4x4

safety waRning  BDS Suspension Co. recommends this system be installed by a professional technician. 
In addition to these instructions, professional knowledge of disassembly/ reassembly procedures and post installation 
checks must be known.

installation instRuctions
1. Park vehicle on clean flat surface with wheels centered, block rear wheels for safety.
2. Remove OE stabilizer if equipped.
3. Install bracket (01503) with 3 u-bolts (5/16” x 1-1/4” x 2”), washers, and nuts. Do not tighten at this time. (Fig. 1)
4. Lightly grease and install bushings (SB58BK) into end of both stabilizers. Install sleeve (51792-1) into each

stabilizer. Note: The sleeves that come in the stabilizer box are not used.
5. Install cup washers and bushings as shown. Attach to center stabilizer bracket. Tighten until bushings begin to

swell, lock off with jam nut.
6. Attach stabilizer bracket (01541) to differential drop bracket with ½” hardware. Tighten to 65 ft-lbs. (Fig. 2)

Note: One leg of the "L" mounting bracket is longer than the other. The longer leg should point toward the center of the vehicle.

7. Attach stabilizers to new bracket. Torque hardware to 65 ft-lbs.
8. Adjust center bracket such that stabilizers are extended 3-1/4”. Torque u-bolt hardware to 17 ft-lbs.
9. Cycle steering and check for interference.
10. Check hardware after 500 miles and at regularly scheduled maintenance intervals.

Fig 1
Fig 2

paRts list
Part # Qty Description
01541 1 Passenger's side stabilizer bracket
01503 1 Driver's side stabilizer bracket
561140200R 3 U-bolts
309 1 Bolt pack
322 1 Bolt pack
406 1 Bolt pack
51792-1 2 5/8" x 0.060" x 1.375" sleeve

55410 2 Steering Stabilizer Kit

#55410 Steering Stabilizer Kit
Part # Qty Description
SB58BK 1 5/8" ID Hourglass Bushing Black
222780 1 2" X 6" BDS 2-color Sticker
N38FJ 1 3/8-24 UNF GR5 Jam Nut
N38FN 1 3/8-24 UNF Nut GR5
117300007 2 Shock Stem Washer (Cup)
5620 1 17.06 X 10.48 X 1-3/4  S1-EB1
4805G 2 Small Stem Bushing Black

Shop for quality BDS Suspension products on our website. Learn more about performance suspension parts we have.

https://www.carid.com/bds-suspension/
https://www.carid.com/suspension-systems.html

